
1) Increase 48 by 1/12

Answer: ____________

2) Find the mean of the following set of data:

0.4, 0, 24, 0.9

Answer: ____________

3) 4/27 of 54

Answer: ____________

4) 2/17 x 8/20

Answer: ____________

5) (-491) + 471

Answer: ____________

6) Decrease 264 by 1/132

Answer: ____________

7) 649 + (-259)

Answer: ____________

8) 20/14 - 11/19

Answer: ____________

9) 8/12 - 5/19

Answer: ____________

10) 839 + (-393)

Answer: ____________

11) 4/2 x 13/14

Answer: ____________

12) (-243) ÷ 27

Answer: ____________

13) 17/2 + 20/15

Answer: ____________

14) Find the range of the following set of data:

-16, 0.7, 12, 4, 0.5

Answer: ____________

15) Share 52 in the ratio 7:19

Answer: ____________
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16) 112 - 12 - 9

Answer: ____________

17) 132/12 x 56/7

Answer: ____________

18) 2 x (-40)

Answer: ____________

19) 702 ÷ 39

Answer: ____________

20) 352 + (-844)

Answer: ____________

Total: ___ / 20
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Answers:

1) 52 2) 6.33 3) 8 4) 4/85 5) -20 6) 262 7) 390

8) 113/133 9) 23/57 10) 446 11) 16/7 12) -9 13) 95/6 14) 28

15) 2 : 50 16) 100 17) 775/42 18) 19) 18 20) -492
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